EAGRAROBREERT — 2 N— IBISH —F 20215F8A11H (K) 10mEH4H

Nl C2m 5% 3L B R
[A&E4£] 1 7 :600,000 @ ~ 2 3&:240,000  ~ 33#&:150,000 @ . 4 37#&:90,000 @ ~ 5 7 :60,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
4 | MEhED 1:32.1 —6-2-2 7. — 1 422 | WA (FEkH)
1178 hbhy—Ib it 54.0 (3_) 66 5.9 (+g) |MEE
L:TVHYA XTI R B4V /IX by Y RESS
S o s 3 | EREE 1:32.4 1-1-1-1 [38.3| — 2 482 | REFE (Fk)
2|8[10| ¥2EH 54.0 (1 3/8) o) | Pk
L:TUHARIL R B:7HH5T7—X B
—a . 04— — &
3 6| 7NTFTUIZ 410 5?%*?5 " 1.(37?3.6 9-9-4-4 | 39.2 10 | 466 %Eﬁ; (Paf#h)
R/ KT vy BiTNT P IRIN— 2 | Ty cag
3 | JIRE— 1:34.3 3-3-5-5 [39.9| — 5 484 | EThEELE (EMA)
41819 oI —I)b 55.0 (4) (1) | HAMET
RHIRG 4 TTR AL o RS
. o4 | BAKH 1:34.5 2-2-3-3 | 40.4| — 3 472 | BIEXE (EB)
5/5]5 T7rF—FK-—-2X 56.0 (3/4) (-3) |BAIIR
RixAagR—-5— B:32a%F TATLAT7—L
— T[22V PN :34. -10-10- . = FHELE (M)
6 4| F—-0>37z27U— it 4 7 (12314/29) 10-10-10-7 | 39.9 9 (4+1; ﬁﬁzﬁ
x40k -5— B: Vv IET Ah—LT77—LaA—KL—Y3>
¢ . 44 | KEERK 1:34.9 8-7-9-10 | 40.1| — 7 438 | KIRIER (FEH)
THE 2| TAXRAA-LY b 54.0 (7€) © | @) &<sa-gL-va
L r—3UTL BHLF-TLEC R 1 2 25
g o6 | BEHT 1:35.1 7-7-8-8 | 40.4| — 4 462 | EBAAEA (B
gl 7| *VA—H W0 (1 1/4) (+4) M
L:hxex) B:HYISL by an B Bk
- N TR :35. —5-6- . - HEM—A (EE)
9l1l1|ET>N=1= I 1(7355)2 5-5-6-6 | 40.8 6 g;s AT
A4 3R R=5— BT RN—/N— HIAREY K
.y = . s {2 KRB :36. ~4-7- . — B EL (FiH)
10 3| VI EMAINZ LI} L3 1(396)6 4-4-7-9 | 42.2 8 (4_059) e
L:bh—trhwLARY BNCI—TTET pEEY )
® 1—F—@EBIERL
1T=7r= 10,5,9,3,1,8,7,2,6,4
23—74— |[10,5,9,3,1,8,(2,7),6,4
30—4— 10,8,5,6,9,1,3,7,2,4
43—+ — 10,8,5,6,9,1,4,7,3,2
[ /N
B 8 200M 714K 8-10 310 e E 7-8 270M JEE 6-8-10 8,310
B B 8 120M 6-8 1,440H B = 8-10 630M B 8-10-6 21,340
10 170 6-10 3,690 B H 8-10 1,000
6 760M

ARICOVWTRDTEEERROODE. TR LIV,



